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&r | TASK SB: WEVE ALRSADY SEEN WHAT THIS TASR DOES.
' TASK SC: 00K AT THE FOUR PossSIBLE PATHS THROVGH THIS TASK,
; WE SEE THAT THE oweLy Timg ws bPo wver NECREMEN T
Ko1s 1r (K=0) muD (R=0). W oTHER worbS, 1F we
HAUSN'T OUTPUT ANY S160IFICANT DI&GITS AND THE PRESINT
DIGIT 1S 2ERD (AND HSNCZ NOT SI16NIFIcANT), -
IF THE PRISSNT PDléeiT 1S woT SINIF) AT AND AMD SIé
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A ‘0 g )<O. L00KING BACK AT WHAT J IS, AND
IF WE ARE RIGHT ABOUT THE FUNCTION BSING sgft(),
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I A NUMBER <|]. AND WINCE NESD To PRINT IT.
TASK 5D : THIS TASK simpy moniToRS '§' Ano ouTeyTs A
bEcimar PorwT AT THE PROPER TIME.

‘ WITH THS ANBLYSIS I mMING , WE CAN CARRY OUT THE ALLORITAM
BY HAND much mORE EFFICISVTLY.
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